

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202



Invoice Number: 131464

Invoice Date: Jun 5, 2012

Page: 1



Customer ID	Well Name/# or Customer P.O.	Payment	Terms
Murfin	Wessel # 1-18	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Jun 5, 2012	7/5/12

Quantity	, Item	Description	Unit Price	Amount
185.00	MAT	Class A Common	16.25	3,006.25
7.00	MAT	Chloride	58.20	407.40
194.25	SER	Handling	2.10	407.93
49.00	SER	Ton miles	21.04	1,031.17
1.00	SER	Surface	1,125.00	1,125.00
49.00	SER	Heavy Vehicle Mileage	7.00	343.00
1.00	SER	Manifold Head Rental	200.00	200.00
49.00	SER	Light Vehicle Mileage	4.00	196.00
1.00	CEMENTER	Andrew Forslund		
1.00	EQUIP OPER	Dane Retzloff		
1.00	OPER ASSIST	Brandon Wilkinson	×	
		12		25
				ii .
				7
ALL PRIORS ARE NET DAYARIE Subtotal			6,716.75	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE
Jun 30, 2012

Subtotal	6,716.75
Sales Tax	249.20
Total Invoice Amount	6,965.95
Payment/Credit Applied	
TOTAL	6,965.95



## ALLIED OIL & GAS SERVICES, LLC 056275 Federal Tax 1.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
DATE 6-5-12 SECS TWP. RANGE 20	CALLED OUT ON LOCATION JOB START JOB FINISH
1.30(12)	14) 6907.10
LEASE WELL# /-/8 LOCATION	Selven YW IN 1E Deceptur KS
OLD OK NEW (Circle one) IN &	
CONTRACTOR MUSTER 8	OWNER Same
TYPE OF JOB SUPFOCE HOLE SIZE 12/4 TD. 2/8/	
	CEMENT
CASING SIZE 858 DEPTH 2/8 TUBING SIZE DEPTH	AMOUNT ORDERED 185 is to com
DRILL PIPE DEPTH	3%cc
TOOL DEPTH	
PRES. MAX MINIMUM	COMMON 1855 & @//25 37/ 25
MEAS, LINE SHOE JOINT	
CEMENT LEFT IN CSG. 15'	POZMIX@ GEL @
PERFS.	
DISPLACEMENT 12.83 BBL	102.40
EQUIPMENT	
Trim 110 A	
DIT 10 molicus - 1 - 1 - 1 - 1	
PUMPTRUCK CEMENTER Andrew	
#43/ HELPER Dane	
BULK TRUCK	
# 404 DRIVER Brandon	
BULK TRUCK	
# DRIVER	HANDLING 194, 25 04/10 2.10 407,92
	MILEAGE 2.35- Tor frice 8.955 704 1831, 17
REMARKS:	TOTAL
cement Did Circulate	SERVICE
cement Did circulate	
cement Did circulate	DEPTH OF JOB 2/8
cement Did circulate	DEPTH OF JOB 2/8 PUMP TRUCK CHARGE //25,00
cement Did circulate	DEPTH OF JOB 2/8  PUMP TRUCK CHARGE //25, 00  EXTRA FOOTAGE @
	DEPTH OF JOB 2/8 ( PUMP TRUCK CHARGE //25,00  EXTRA FOOTAGE @  MILEAGE 49 mices @ 2,00 3/3,00
	DEPTH OF JOB
thank you	DEPTH OF JOB 2/8 ( PUMP TRUCK CHARGE //25,00  EXTRA FOOTAGE @  MILEAGE 49 mices @ 2,00 3/3,00
	DEPTH OF JOB 2/8 PUMP TRUCK CHARGE //25,00  EXTRA FOOTAGE @ //25,00  MILBAGE 49 miles @ 2,00 343,00  MANIFOLD head @ 200,00  Light vehicle @ 4,00 196,00
thank you	DEPTH OF JOB
Thank you CHARGETO: MUCKIN	DEPTH OF JOB
Thank you CHARGE TO: Markin STREET	DEPTH OF JOB
Thank you CHARGE TO: Markin STREET	DEPTH OF JOB _ 2/8 ' PUMP TRUCK CHARGE _ //25, 20 EXTRA FOOTAGE _ @
Thank you  CHARGE TO: MACEIN  STREET  CITY STATE ZIP	DEPTH OF JOB _ 2/8 ' PUMP TRUCK CHARGE
Thank you  Thank you  THANK YOU  STREET  STATE  To: Allied Oil & Gas Services, LLC.	DEPTH OF JOB _ 2/8 ' PUMP TRUCK CHARGE
Thank you  Thank you  Thank you  STREET  STATE  ZIP  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equip	DEPTH OF JOB _ 2/8 ' PUMP TRUCK CHARGE
Thank you  Thank you  Thank you  STREET  STATE  ZIP  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equip	DEPTH OF JOB _ 2/8 ' PUMP TRUCK CHARGE
Thank you  STREET  STATE  STATE  To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment furnish cementer and helper(s) to assist owner contractor to do work as is listed. The above work	DEPTH OF JOB
Thank you  CHARGE TO: Markin  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment furnish cementer and helper(s) to assist owner contractor to do work as is listed. The above work fone to satisfaction and supervision of owner ager contractor. I have read and understand the "GENE	DEPTH OF JOB
Thank you  STREET  STATE  STATE  To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment furnish cementer and helper(s) to assist owner contractor to do work as is listed. The above work ione to satisfaction and supervision of owner ager	DEPTH OF JOB
Thank you  CHARGE TO: Markin  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment furnish cementer and helper(s) to assist owner contractor to do work as is listed. The above work fone to satisfaction and supervision of owner ager contractor. I have read and understand the "GENE	DEPTH OF JOB
Thank you  CHARGE TO:	DEPTH OF JOB
Thank you  CHARGE TO:	DEPTH OF JOB
Thank you  CHARGE TO:	DEPTH OF JOB



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

## NVOIGE Lis

Invoice Number: 131515

Invoice Date: Jun 16, 2012

Page: 1



Customer ID	Well Name/# or Customer P.O.	Paymen	t Terms
Murfin	Wessell 1-18	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Jun 16, 2012	7/16/12

Quantity	Item	Description	Unit Price	Amount
132.00	MAT	Class A Common	16.25	2,145.00
88.00	MAT	Pozmix	8.50	748.00
8.00	MAT	Gel	21.25	170.00
55.00	MAT	FloSeal	2.70	148.50
236.28	MAT	Cubic Feet	2.10	496.19
483.44	MAT	Ton Miles	2.35	1,136.07
1.00	SER	Plug To Abandon	1,250.00	1,250.00
49.00	SER	Heavy Vehicle Mileage	7.00	343.00
49.00	SER	Light Vehicle Mileage	4.00	196.00
1.00	EQP	8 5/8 Wooden Plug	92.00	92.00
1.00	CEMENTER	Alan Ryan		
1.00	CEMENTER	Terry Heinrich		
1.00	OPER ASSIST	Brandon Wilkinson		
		Subtotal		6 724 76

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$2353.67

ONLY IF PAID ON OR BEFORE
Jul 11, 2012

Subtotal	6,724.76
Sales Tax	490.91
Total Invoice Amount	7,215.67
Payment/Credit Applied	
TOTAL	7,215.67



## ALLIED CEMENTING CO., LLC. 035407 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:			
DATE 6/13/12 SEC. TWP. RANGE CO	ALLED OUT OI	N LOCATION	JOB START	JOB FINISH
LEASE WELL# 1-18 LOCATION & Berlin	5 % Ad 10	2 11/	COUNTY	STATE
OLD OR KEW (Circle one) IN EIN		200	Decatus	1.7.2
CONTRACTOR Murfiel 8 TYPE OF JOB PT A	•	Same		
HOLE SIZE 21/8 T.D.	CEMENT	123		
CASING SIZE 85/8 DEPTH 218'	CEMENT AMOUNT ORDER	RED 2205	Ks 60/40	2 4 good
TUBING SIZE DEPTH DRILL PIPE 4/1 DEPTH	······		4 Flose	el o
DRILL PIPE 41/1 DEPTH TOOL DEPTH			···	
PRES. MAX MINIMUM	COMMON 13	12	@1625	2145-00
MEAS. LINE SHOE JOINT	POZMIX 8	88	@ P 500	2000
CEMENT LEFT IN CSG.	GEL	8	@2/25	5000
PERFS.	CHLORIDE		@	
DISPLACEMENT	ASC		00	
EQUIPMENT	FloSeal 5	513	@2 20	148
1/ 0			- @	
PUMPTRUCK CEMENTER Han Ryan			_@	
# 422 HELPER Terry Heinrich			_@ @	
# 347 DRIVER Brandon Willerson			@	
# 347 DRIVER Grandon Wilkenson BULKTRUCK			@	
# DRIVER		0.60	@	19-
	HANDLING 236	JEJCF	@ 2.0	49607
DEMARKO.	MILEAGE 23576	Vaile 9.	86670N	1/36-76
REMARKS:			TOTAL	4843
25 5Ky @ 2650'			-	
40 CH & 250'		SERVIO	CE	×
10 4/3 @ 40'	DEPTH OF JOB			
	PUMPTRUCK CH	IARGE		125000
30 sks Rut Hole	EXTRA FOOTAGE		@	
155K1 Mouse Hole	MILEAGE	49	@ 7 00	343
	MANIFOLD	. 10	@	00
	Citellehicle	49	@4=	196
M. G. Aillian				
CHARGE TO: Murking Drilling			momile	100000
STREET			TOTAL	178900
CITYSTATEZIP	PLU	JG & FLOAT	EQUIPMEN	IT
	•	1.	# **	
	8 8 Wester	Plus	_@	9200
			_@	
To Allied Cementing Co., LLC.			_@	
You are hereby requested to rent cementing equipment	-		_@	
and furnish cementer and helper(s) to assist owner or			_@	
contractor to do work as is listed. The above work was				01200
done to satisfaction and supervision of owner agent or		•	TOTAL	40
contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If A	nv)		
TEIGNIS AIND CONDITIONS IISIED ON the reverse side.	TOTAL CHARGE	672	1170	
	TOTAL CHARGE	5-10, 10	7. 10	•
PRINTED NAME And rey 74M	DISCOUNT			D IN 30 DAYS
Do -				
SIGNATURE LOS LOS FORMS				
, w		٠, .:	• .	